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E{[Ẑ( 0) − Z( 0)]2}

Cα,β Cα,0

C( α − β)

C( α − 0)

n∑
β=1

λβCα,β = Cα,0, α = 1, ... , n

σ̂2
Z( 0) = σ2

Z − 2
n∑

α=1
λαCα,0 +

n∑
α=1

n∑
β=1

λαλβCα,β

m

m( ) = m, ∀ ∈ A

σ̂2
Z

σ̂2
SK
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Y (p) + ŷSK)), p = 1, ... , P

(σ̂2
SKG−1

Y (p)+ ŷSK)
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ẑMIK( 0)
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î
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= î( 0; ycls)MIK − i( 0; ycls)MGK , ∈ [−1, 1], cls = 1, ... , K + 1

cls ≥ 5
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m̂k

m̂k m̂k m̂k

m̂k

m̂kcond

K = 5, K = 15

(K = 10)

p pl = l
P+1 , l = 1, ... , P yl =



G−1(l) zl

m̂k

(yk−1, yk]

(−∞, yk=1] (yk=K , ∞)

(0, zk=1)

m̂k = 1
L

yk+1∑
yk

yl, yl ∈ (−∞, ∞); l = 1, ... , L; k = 1, ... , K

L pl

[−3.719 ≤ yl ≤ 3.719] [0.004 ≤ zl ≤ 50.067]

m̂kglob
m̂kcond

E{m̂kcond
}

m̂kglob

m̂kglob

αY = −0.804 β2
Y = 1.609

μZ = 1.0 σ2
Z = 4.0
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ŷSK

60

σ̂SK

σ̂SK 50 − 60
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ŷSK

σ̂SK
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ŷSK ±0.02



−1.0 −0.5 0.0 0.5 1.0
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ŷSK

−0.5

0.0

0.5

1.0

1.5

P
ar
ti
al

d
ep

en
d
en
ce

0.0 2.5 5.0 7.5 10.0
σ̂2
SK

−0.5

0.0

0.5

1.0

1.5

P
ar
ti
al

d
ep

en
d
en
ce

m̂kcond
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